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307 2120l & 6,336 6,336 0
05 BI2tAE =S 6,336 6,336 0
ORBHIAIAE =4
176,000& = 128 * 3MHA 6,336
DAL U FHISTBR(HE) 156, 101 190,665 34,564
101 Q1] 10,095 6,655 3,440
04 JIZH2ZNSES 10,095 6,655 3,440
ONMHAE SSHEEEL 2
40,0003 = 180 7,200
OfIdg M=xg 2Y 35,3203 » 144 495
032 - 201s&4 2| UFY
40,0002 » 60 2,400
201 Yere2o| 72,906 83,250 £10,344
02 S5=2gH| 72,906 83,250 A10,344
Oxtet= Al 24,150
-AEsE 3,222,000& = 3CH 9,666
-Sx5t=E 7,242,0008 = 204 14,484
OMcANE sS4 8,000
-S&R2= 500,000& = 12& 6,000
-= A2 2,000
OoNzs 2 dss dliks
3,163,000& » 12& 37,956
OsH=N 2 AEFAH| 300
O ==Xl 2,500
401 AIEHIZ R0 70,000 100,760 A 30,760
01 A&l 70,000 100,760 230,760
oNzgsdEd RUAE 60,000
HEQAY =2 FHHI 10,000
405 KH&HESHI 3,100 0 3,100
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S Hotp
o

M3 ZOIHMOZA XHNL(Hore)
Chel: BEUS KA (Hota) (Sl &2)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
401 Al&HI LS04I 380,000 380,000 0
01 Al&H| 380,000 380,000 0
OZ2 QIAMY & 150,000
OS U1 &t===3HI(100m) 10,000
OSU3 EXEXI(1s) 10,000
OZ L4 === =K (50m) 10,000
O3412 D2t M 271 (250m) 20,000
OEE3 OtsdRE=(14) 10,000
O&23 s= ZZ(100m) 10,000
OZX&1 HAZMEXI(14)) 10,000
OZ &3 M ZHI(50m) 10,000
O2=1 BOXAXI(14) 20,000
o232 == XZZ&(200m) 20,000
OwE2 =22l (100m) 10,000
OR&1 ==X &(150m) 20,000
OfE2 2ot& FHI(30m) 10,000
ORE4 5t===3FHI(60m) 20,000
O =22 & ti=2FdI(150m) 20,000
O A2 == I ZE(200m) 20,000
HY2IHH(ForH) 209,200 180,737 28,463
ol (Hotp) 147,788 116,417 31,371
el (HetH) 137,360 105,989 31,371
101 el H] 137,360 105,989 31,371
01 E= 30,932 0 30,932
OHCHH A2t 2R 2 (20A12H) 30,932
03 RIIHAZZXNE = 106,428 105,989 439
Oos30lsA 106,428
-QI=21(3¥) 106,308
-&A= 20,000& * 39 » 23 120
SAd(ZorH) 10,428 10,428 0
203 HRF&Hl 10,428 10,428 0
01 J|22SHFRF&HI 6,000 6,000 0
OHERIE 2 Hegs PRFA 6,000
02 FJAANMAHSFAHI 648 648 0
OXR AIITE 2|
40,000& = 18% * 90/100 648
04 RA2ILRFLH 3,780 3,780 0
ORM2ILFF=LH
350,000& = 128 * 90/100 3,780
Jl2ZH(HerH) 61,412 64,320 22,908




SN
X XH .
S Tt

el

FZH(Fere)
HI(HetdH)

[
2

20
B
2

HI(Zeret) 61,412 64,320
SRl 28,112 31,920
NESITY 23,128 24,260
OPIEES=1] 8,748
OJl=az| 2,160
oueRsE 1,020

—Eyue 15,0008 * 12 + 128 180

NN 13,0008 » 52 « 12® 780

-Xleja e 5,0008 * 1% * 122 60
o=y 50,0002 * 28 * 112 11,200
zz 2| 4,984 7,660
OXs23 120
o2u23 3,464
O=AIS I 1,400
o1l 32,400 32,400
2 o401 H| 32,400 32,400
O 01| 50,0009 * 18% * 122 32,400
NS 900 0
A2 E S| 900 0
OCIXI 302t 500,0002!  1CH 500
oz 400,0002!  10H 400




S A2l
Ha: R0 OE MHIA HB(ARIS)
o9l SENQ AlRIS 2Y (25l &2
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
A2l & 543,619 512,798 30,821
Z0l BHE MUIA R (AR2I0) 161,348 52,338 9,010
580 AZY 29 161,348 152,338 9,010
ZOIS I XA (At2IS) 94,269 94,390 A121
301 YerBAZ 94,269 94,390 A121
05 -2 -HPBS2HI 91,960 91,960 0
OO0l 45 88,560
Slzay 200,008 * 279 * 122 64,800
-4 0 2 200,0008 * 27% * 23| 10,800
-5 & sl 4t
20,0002 * 27% * 23| * 122 2,960
Opta 45 50,0009 * 68% 3,400
10 BAAEI 24 S 2,309 2,430 A2
OO0 HTX2AS U AIAIR
90,0002 * 27% * 95/100 2,309
BI2Y U Bel(A2l9) 35,458 31,948 3,510
101 124 8,647 8,647 0
04 JIZH22HSES 8,647 8,647 0
OMYII4H QY 36,4702 * 1472 5,362
OZETAs 22l 92Y 35,3208 « 932 3,285
201 LByl 11,899 13,989 A2,090
01 At 2,063 2,173 A110
OBl SASX 2,000,0002 * 95/100 1,900
ORg2AAE 20
S 20,0002 * 13l 20
ORIINHEY 248 71,5008 * 23l 143
02 B2 9,836 11,816 ~1,980
SEEPIET=E 186
22 75,0008 * 23l 150
RS2 36,0002 * 1CH 36
O A 21| 5,000,0002! * 90/100 4,500
OFA ®I1R2 360,002 * 122 4,320
O 25223 29,0008 * 122 348
OXHS THAl 26,0002 * 1CH 26
og#z 456
S 456,002 * 1CH 456
202 Oit| 6,000 6,000 0
01 =2UoiHl 6,000 6,000 0
Os - S42 ANy « Lol =3 6,000
206 T2 bl 3,800 1,200 2,600




SA: A2
H: FO OkE AHIA MB(Al2I9)
Cel: 28X AllY 29 (e &
= HEE
PA - EHH - HRA(SAH) - MRAS = &HeR Oll AF O Blus
01 M2l 3.800 1,200 2,600
O2EZ st BLXH N2 1,200
ogds R4l 2,600
207 S RIH L] 3.000 0 3,000
01 eipEd| 3,000 0 3,000
OOIDINHN S HarstEA 3,000
307 2I2t0l & 2,112 2,112 0
05 QIt2AE3 2,112 2,112 0
OSHHIAIAY S 176,0008 2,112
SSAE L ZHIRX 22l (Aele) 31,621 26,000 5.621
101 @121H] 883 0 883
04 JIAH22RELS 883 0 883
OMgza 22 =g 35,320 * 883
201 Leredd| 26,528 26,000 528
02 32| 26,528 26,000 528
OJI2E ¢ MES IR
1,797 0008 21,564
OMgza Q3 10,0008 120
OX Rl 3.544
~AEEI2 3.544,0008! * 1CH 3.544
OA SRl 1,000
O=X 32 AERX 300
401 A2 HI LR THYI 1,710 0 1,710
01 Al&H 1,710 0 1,710
Ozloa e AlL 1,000
OXIISL A 710
405 KhakF S| 2,500 0 2,500
01 XaLSEFSH 2,500 0 2,500
Ozloa oloj2 7 2,500
FUBOIFA XAML(Al2IH) 300,000 300,000 0
DEUAE XML (Ar2I2) 300,000 300,000 0
AAR FUSAY (A2IH) 300,000 300,000 0
401 Al HIZL 2T 300,000 300,000 0
01 Al&H 300,000 300,000 0
OALE ME B4 2 & Xl (200m) 20,000
OED| =2 = HI(50m) 8.500
OEJl 2AHEXI(2m) 7,500
OUE 24X L T (50m) 10,000
082 s=2ZF(200m) 20,000




oF
R’

ok
ol

e

n0

KIo

Bl w

21,81
24,693
24,693
24,693
24,693

A2,882
A2,882
A2,882

AT96

22,086

H3r
uiled!
pak=

60,460
9,240
9,240

9,240
6,000

540
2,700
51,220
51,220
26,020
21,500

4,520

=
o

s

<J

5,000
18,000
11,000

7,000
20,000
10,000
15,000
15,000

3,000
10,000

120,000

82,271
33,933
24,693
24,693
24,693
24,693

9,240

9,240
6,000
6,000

540
540
2,700
2,700
48,338
48,338
23,138
20,704
6,804
1,680
1,020

180
780
60
11,200

2,434

or
X0
Y

45m)
110m)

— — ~— —

O2g =2 &l
OSE =2 &I
Odtd =24 Xl
O=4d =24l

R

=
o

ol

oF
al

0l
Rr

(20A124)

HI(At2led)

KJ
KF
oF
ol

40,000& = 159 = 90/100
250,000& = 12& = 90/100

cldl

b

O ADINZ ZH|

02 HaJtat
01 At

n

[t
ed

o+ 18« 128

[uins

5,000& » 18 « 128

13,0008 * 5% = 123
50,000& » 2& » 112&

15,000

30
OH
Mo
Mo

120




SA: ARlS
M N2 AY| (A2]H)

o oo

el 23 HI(At2le)

SA - BE - BA(EA) - NRAY - BES 0] & 08 a4
04l & 2
ORER3 1,414
O= A2 Xl 900,000& * 1CH 900
202 (4 HI 25,200 25,200
02 EHHYI 25,200 25,200

O A0 150,000& = 14% » 123 25,200




SN AL
M =0l OE AHIA RIZ(A%0)
Sl EBHO A4% 29 (el &2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
A 40 442,421 389,649 52,772
=0l O MHIA RIZ(A%0) 143,660 114,005 29,655
EEX0 4240 29 143,660 114,005 29,655
FOIHF KR (L 40 66,545 66,630 A85
301 LB A 66,545 66,630 A85
05 -2 -HPBS2HI 64,920 64,920 0
o0l Z4g 62,320
lgag 200,000 * 19 * 122 45,600
-4 0o 2 200,008 * 199 * 23| 7,600
-5lol &MLy
20,0002 * 19% * 23| + 122 9,120
OoptE4g 50,0008 * 529 2,600
10 BAAEI 24 S 1,625 1,710 A85
O0I% HRKAS U AYAIE
90,0002 * 19% * 95/100 1,625
YH2Y U Bel(A40) 32,319 27,859 4,460
101 @121t 6,528 6,528 0
04 JIZH22HSES 6,528 6,528 0
OM Il 23 oy 36,4702 * 1472 5,362
O=EIAS B2l A8Y 35,309 « 3L 1,166
201 LByl 15,079 12,719 2,360
01 ALR eIt 3,880 2,190 1,690
OSIBA =2MEX 2,000,0002! * 95/100 1,900
ORg2AAE 20
S 20,0002 * 13 20
OFIIGAFAA 248 80,0002 * 23l 160
OSANHF M L HA 1,800
2 T2 11,199 10,529 670
O A 20| 5,000,0002! * 90/100 4,500
OB &II23 338,0002 * 128 4,056
OBAN +523 182,008 + 122 2,184
OXSIHA 26,0002 * 1CH 26
OBBWLLLYS 140
22 50,0002 * 23l 100
XS At 40,0009 * 1CH 40
os#2 293
-4 8352 293,008 * 1CH 293
202 01t 6,000 6,000 0
01 2Uioibl 6,000 6,000 0
Os  SH2 )Y U goge =3 6,000




SN Aap
M =0l OE AHIA RIZ(A%0)
Sl EENO ASH 2Y (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
206 2| 2,600 500 2,100
01 HEH| 2,600 500 2,100
OZETAs BLXH M2 500
ogsg KM 2,100
307 BI2HOIE 2,112 2,112 0
05 DIZHSIES 2,112 2,112 0
ORUFHIAAE SXEl 176,008 * 128 2,112
TTAE UL BHIRK B2 (L4B) 44,796 19,516 25,280
101 o121l 672 672 0
04 JIAH2RZNE L+ 672 672 0
OATUR HIZAIH 219 35,3208 » 192 672
201 Yer2 Yyl 11,204 11,764 A560
02 ITZ2Y| 11,204 11,764 A560
OJ2E % MES ®II23
530,002 * 122 6,360
ORI 3,544
-4 852 3,544,0002 * 1CH 3,544
OASRN| 1,000
OA%2X32 ALK 300
206 2| 1,800 1,800 0
01 &bl 1,800 1,800 0
O&3LR HIE 15,0008 * 120% 1,800
401 Al&HIL 20| 30,720 5,280 25,440
01 Al&t] 30,720 5,280 25,440
OFA 442 DA 3,000
O7TUR A 2 HALS AN
22,0002 * 1,260 27,720
405 THAHE St 400 0 400
01 RAUSEHSH| 400 0 400
0=l 2 400,008 = 1CH 400
ZOIHOZY XA (A%0) 220,000 220,000 0
REHYS TANL(L4D) 220,000 220,000 0
ARE FOISRAY (AD) 220,000 220,000 0
401 Al&HIL 20| 220,000 220,000 0
01 Al&t] 220,000 220,000 0
OTOH DH2 92 BH4=2 & bl (60m) 1,500
OOk ALY S2TH(160m) 9,000
OO0 &2 ZH(70n) 8,000
OA1 HIEFHI(7n) 5,000




A0
FOIHOIZA RHML(A4D)
DEQIS MANL(ASD)

K- EE . SRI(B1) - MRS -

el

22
J2

20
B
2

O=2l1 =2 J bl (16n) 7,000
O%2l2 HDN =2 =X (130m) 15,000
O%2l3 ME =2 == (80m) 9,000
O0HS2 £ M2 i =2 Hl (66m) 13,000
OS81 AotAEY YL =2 FH(136n) 20,000
OS8 1 YarE S22 (170m) 19,000
OS82 MEZHI(15m) 3,500
OF2 QgAY HZ 90,000

HHSAAH| (A2D) 78,761 55,644 23,117

o2 (A4H) 32,760 9,204 23,556

Il (A%B) 23,556 0 23,556

101 @124l 23,556 0 23,556

01 B 23,556 0 23,556
OA%B AT R4 (20A121) 23,556

S (A%B) 9,204 9,204 0

203 YR 9,204 9,204 0
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